MathLinks 9 Practice and Homework Book
Chapter 4 Answers
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Get Ready

a) 520 0r 51020 b27 or 9to 27
ch 318 or3to 18

Ladlidorltod by l:3orlto3

chl:borltob

L) 0.25, 25% b)0.33,33.3% ¢) 0.16, 16.6%
La)e b2l eyl dy2
. 2 1 1 7
- Examples: a) x55ce = T W S0 = T00m
5 15cm _ 4icm r 15cm _ 40 em
Y W0em = E00 cm Im T Em

L0.25m T 100 km

1 Enlargements and Reductions

. a} enlargement, larger
I} reduction, smaller ¢} scale factor, constant
] Iy}

K

La)equal to 1 b less than 1 c) greater than 1

. a) Example:

by Example: I measured the various parts of
the butterflv, multiplisd that measurement
b 4, and then drew the part in the new

measurement. For example, the bodvyis 5.5 mm

long. I drew the larger body 22 mm long.
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a) enlargement
b} approximately 1:2.3. Example: If vou

measure the A in the newspaper headline and
the A in the poster headline, vou can find the
scale factor.

1.2 Scale Diagrams

|

.d) 2.c) 3 h) 4.a)
. a) divide 85 by 5, then multiply 1 times the
answer b divide 132 bveo

6.a) 121.5 b3 4 Toa) 1302 cm b) 2 mm
1 1 1 1
] 75 11} E 4. al m Irlm
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a} approximately 1:206 or 1:207, depending on
how viou measure
b} The scale drawing should be 1.1 cm by 1.5 em.

iy
Mn lenr,
¢) 1.65 cm?

3 Similar Triangles

. a) angles b sides

2. scale Factor, proportion

. a) Yes. Thev are similar because the
corresponding angles are equal and the
corresponding sides are proportional.

Iy} Mo, The angles are not equal and the sides are
not proportional.

a) LA and A), LB and LK, ACand £L;

AB and JE, BC and KL, AC and JL
by £Pand £M, £0and £N, £R and £L;
PO and MM, PR and ML, QF and ML

CAPOR and AW are similar. Example:

Thev are both isosceles right riangles with 45°
angles on the legs. Corresponding sides are
proportional.

6. Mo, Example: Thev are not similar because the

corresponding sides are not proportional.

Tajx=21 x=138
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(ML9 Practice and Homework Book, Chapter 4 Answers continued)

8. Example: Triangle reduced by half.
T

1.55 cmi 1.75cm
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& 167 cm

4.4 Similar Polygons

1. False. Polygons that are similar have all
corresponding angles equal in measure,
. False. Example: You can use similar polvgons to

I

determine unknown side lengths

3. False. A polvgon is a two-dimensional closed
figure made of three or more line segments.

4. a) Yes Example: Thev are similar because all side

lengths are proportional with a scale factor of 2.

b} Yes. Example: All side lengths are
proportional with a scale factor of 1.7.

L ith
|
"'mm

¢} Examples:

S.al

Goalx=17 bhx=225 =12

by25.2m

Ra=63yp=6Tz=50

9 160 cm

4 Chapter Link

1. a) Answers may varv. Examples:

* Making every square on the small visual
equal to two squares on the enlargement
would double the size of the logo.

* Making every square on the small visual
equal to 1.5 squares on the enlargement
would produce a logo one and a half
times the original size.

b} Examples:

* The scale factor is 1:2. | made each
dimension twice the size of the original.

*» The scale factor s 1:1.5. I made each
dimension one and a half times the size
of the original.

2 13 24
us*
;3_1”? 4
4 Vocabulary Link

l. &) ratio

1. ¢) polvgon

3. 1) reduction

4. §) simlar

5. g)scale

6. a) corresponding
7. b) enlargement
8. 1) scale factor

9, ) scale diagram
11, d) proportion

HUHPGETOQGGI! JSEZDSDEFOQ
|l ALSRFZIGEWRDEKECOHHEEG
QTMF|IC/HE TM I LAFRILAXIDIS
FEBELFAUVUIRMVYXWE XWEDI I W
ODUCTILCEZUMYMSBCPMUFA
QCMMNIEVOSEUENLARGEMERHNT)
M CDRIFIS ¢ Luxcscpncp
MEONADIQ ﬂ.h‘.KZ}{SUHED
RIED U[C T 1 O MATLLSROFQ s V FWQC
oV o T(TIs | B PRI MY C OB F
FEDRIOTUMNEKDAR EFOW
OKREIRXEANTQOL CLH
RCORFREGSPONDIH WG
TILCTOP JE]IWPUEK K
IIMDYOFEIC/KE L) CRBCA |
Ol LFU L TARMUI UL KU M SO L
M,PZYCGIJ|L|/OEMUYKOBE P
EFTRVZIPIEEDNBEHEBKOQQXULUGZ

Copyright © McGraw-Hill Ryerson, 2009



(ML9 Practice and Homework Book, Chapter 4 Answers continued)

Chapters 1-4 Review

L =4 dmdwdxdmd=d= 16384
T=Tw Tm Tw7=2401

. There is rotational svmmetry of order 2.
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4.0)—12025 b) -8
5. a) hexagon, rect ﬁn_gJe, square, diameond, triangle
b} hexagon: order &, 60°, %‘. rectangle: order 2,
1807, :1, square: order 4, 90°, ‘]1- diamond:
order 2, 1807, %‘,triﬂ.ngJe: order 6, 60°, %
6. 0) =33 b) =207 ¢ —3%3
7. g 8 @) 23 £ 53 b) 4t £ 08
9. 1679.18 cm?® 10, a) $1759.02 b) $259.02
11. BC = 5cm
12. Example: Calculate the surface area of one
half of the roof, the front, and one side of the
birdhouse. Bacause the other half of the root,
the back. and the other side of the birdhouse
are identical to the first set of caleulations,
multiply the answer by two. Then, subtract the
hole and add the sides of the cvlindrical perch,
bt not the end of the perch.

1aj245m b)534m
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